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CTET-1 CDP Memory Based Questions Q8. Summative assessment does not mean that
Ans: learners should be given opportunities
Q1. According to NEP 2020, the ____ must be at to re-demonstrate their understanding
the center of the fundamental reforms in the when the feedback has been understood and
. acted upon
education system.
Ans: Teachers Q9. Multiple choice questions assess the child’s
ability to
Q2. NEP 2020 says that a National Curricular Ans: recall the correct answer
and Pedagogical Framework for Early
Childhood Care and Education for children . ]
up to the age of 8 will be developed by- CTET-1 English Memory Based Question
Ans: NCERT Q1. Stephen Krashen’s theory of second
) ) ) ) / language acquisition does not consist of-
Q3. The stage in which a child begins to think Ans: The learnability hypothesis
logically about objects and events is known
as - Q2. According to Krashen, if a learner is at stage
Ans: concrete operational stage ‘I’, then acquisition takes place when she is
exposed to that belongs to level ‘i+1’
Q4. According to Kohlberg, thinking process Ans: Comprehensible input
involved in judgments about questions of
. . Q3.  Which point is not necessary for developing
right and wrong is called- 1.
Ans: moral reasoning good handwriting
' Ans: Should be able to express ideas
Q5. The conceptof ‘private speech’ of children as Q4. Which one is not included among the five
proposed by Vygotsky- guiding  principles for  curriculum
Ans: illustrates that children use speech to development proposed by NCF?
guide their own actions Ans: Use important tools in classifying
students into groups of passed and failed
Q6. Which of the following is not a guiding ' _
principle of NCF 20057 Q5. Vygotsky§ theory of language is based on
Ans: Students need to appear in — learning theory.
o Ans: Constructivist
examinations regularly
Q6. Whatis SLA?
Q7. Accor‘ding to NCF 2005, which of the Ans: Second Language Assessment
following is one of the curriculum reforms in
school education to be implemented | Q7. Which of the following is not a barrier to
effectively? effective listening?
Ans: Mid-day meal and medical checkups Ans: Proper concentration or interest
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CTET-1 Hindi Memory Based Question

ATSICEhT o STAET 8 § | FiF #iad &
e et gl & -
Ans: HER{T ST 9197

PIC VIC NIC T &7 ¢, ofiaenrer 32T 8

TO NICRE &7 7T g , ¥IH=HTA TH §

RE THO PA T &% g, TTd TH &, qT ATSHERTA
T T ore% FI AT AT

Ans: TO

g oo & AT

Ans: |9

RAEREAT T FHTL
Ans: 39 ¥ w97 T | AT I % a<ih
H T AT gL

TTE § TFT FIT FLaAT &
Ans: TR

AN &1 §Y fF=we
Ans: Id +3TTT

g ATe Sree A7eqH | ST A4 g2 &
ATAT 9 AIEASH o (AT AL AT & a9
Tohe ¥ Tl 8 ?

Ans: ATUT

CTET-1 Mathematics Memory Based
Question

What is the sum of the place value of 9 and
face value of 7 for the number 59672-
Ans: 9007

The length of a rectangle is halved, while its
breadth is tripled. what is the percentage
change in area?

Ans: 50 %

Q3.

Q4.

Q5.

Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

Q7.

Which is the largest fraction among the
following -

5 .7 48 o7
4=-,6-,7-,7—
6’ 9’79’ 10

Ans: 7E
9

How many lines of symmetry are there in a
square-
Ans: 4

Find the complement of the angle % of 90

degree -
Ans: 30 degree

CTET-1 EVS Memory Based Question

The head of a herd of elephants is
Ans: Oldest female elephant

A group of three states having the Arabian
Sea on one side is
Ans: Kerala, Karnataka, and Maharashtra

Warli Tribe is well known for Warli Art
which is made by using:
Ans: Cow dung and earth

Name a bird which has the following
characteristics, “A crown on the head and
coins on the tail, so many shades of blue
from top to tail”.

Ans: Peacock

Al-Biruni came from which country?
Ans: Uzbekistan

Growing the same crop over and over using
so many chemicals makes the soil
Ans: Barren

The group called Tarun Bharat Sangh is
associated with
Ans: Rebuilding old lakes
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Q8.

Qo.

Q10.

Q11.

that
development include all of the following

Environmental  factors shape
except

Ans: Intelligence

Dyslexia is associated mainly with
difficulties in

Ans: Reading

The best way to assess a child at the primary
level is to use
Ans: Portfolio

“Cheraw” is the dance form of the people
from
Ans: Mizoram

Q12.

Q13.

Q14.

Q15.

Which of the following is a folk dance of
Rajasthan?
Ans: Ghoomar

Which one is the folk dance of Manipur?
Ans: Raas Leela

On the Golconda Fort map printed in the
class V textbook, a 1 cm distance is equal to
a distance of 110 m on the ground. The
distance between Fateh Darwaja and
Banjara Darwaja is 14.2 cm on this map. On
the ground, the minimum distance between
the two would be

Ans: 1.562 km

Which one of the following statements on
EVS is in accordance with NCF-2005?

Ans: EVS to be taught as a composite area of
study in classes [ to V
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